



Gauss Divergence Theorem!

If F is a vector point function, finite and differentiable in a sequen R bounded by a closed surface 3, then the Suspece integral of the normal component of \$ taken over S is equal to the integral of divergence of it baken ∫∫ ₹. ôdo = ∫∫∫ v. ř dv.

where \hat{n} is the unit vector in the +ve (outward observen) normal to S.

1. Verify Games divergence theorem for = (x2-y3) +(y2-32) +(3°-xy) & taken over the rectangular possible pipes 0 £ x ≤ a , 0 € y ≤ b , 0 € Z ≤ C .

By Games divergence theorem,

RHS: $\vec{F} = (x^2 - y^3)^{\frac{3}{2}} + (y^2 - zx)^{\frac{3}{2}} + (z^2 - xy)^{\frac{3}{2}}$ V.F = (2x) + (2y)+(22)

$$= 2(x+y+y)$$

$$= ab^{-\epsilon}$$

$$= a(x+y+y)dzdydx$$

$$= a\int_{0}^{\infty} \left[xz+yz+\frac{z^{2}}{2}\right]^{\epsilon}dydx$$

$$= a\int_{0}^{\infty} \left[cx+cy+\frac{c^{2}}{2}\right]dydx$$

$$= 2 \int \left[\cos y + \frac{cy^2}{2} + \frac{c^2}{2} y \right]^b dx$$

$$= 2 \int \left[\frac{bcx + \frac{b^2c}{2} + \frac{bc^2}{2} \right] dx$$

$$= 2 \left[\frac{bcx^2 + \frac{b^2cx}{2} + \frac{bc^2x}{2} \right]^a$$

$$= 2 \left[\frac{a^2bc + ab^2c + abx^2}{2} \right]$$

$$= abc \left[a + b + c \right] \rightarrow 0$$

$$= abc \left[a + b + c \right] \rightarrow 0$$

$$= abc \left[a + b + c \right] \rightarrow 0$$

$$= abc \left[a + b + c \right] \rightarrow 0$$

$$= abc \left[a + b + c \right] \rightarrow 0$$

$$= abc \left[a + b + c \right] \rightarrow 0$$

$$= abc \left[a + b + c \right] \rightarrow 0$$

$$= abc \left[a + b + c \right] \rightarrow 0$$

$$= abc \left[a + b + c \right] \rightarrow 0$$

$$= abc \left[a + b + c \right] \rightarrow 0$$

$$= abc \left[a + b + c \right] \rightarrow 0$$

$$= abc \left[a + b + c \right] \rightarrow 0$$

$$= abc \left[a + b + c \right] \rightarrow 0$$

$$= a^2bc - ab^2c + ab^2c + abx^2c - abx^2c$$

$$\iint_{S_{2}} \vec{F} \cdot \hat{h} ds = \iint_{S_{2}} y \, 3 \, dy dy = \iint_{A} \left[\frac{y^{2}}{4} \, 3 \right]_{0}^{b} dz$$

$$= \iint_{S_{2}} (b^{2} \, y) \, dy = \left(\frac{b^{2} \, 3^{2}}{4} \right)_{0}^{c} = \frac{b^{2} c^{2}}{4}$$

$$= \iint_{S_{2}} (b^{2} - 3 x) \, dx dy = \iint_{S_{2}} (b^{2} x - 3 x^{2})_{0}^{b} dy$$

$$= \iint_{S_{2}} (b^{2} - 3 x) \, dx dy = \int_{S_{2}} (b^{2} x - 3 x^{2})_{0}^{b} dy$$

$$= \int_{S_{2}} (b^{2} - 3 x) \, dx dy = \int_{S_{2}} (b^{2} x - 3 x^{2})_{0}^{b} dy$$

$$= \int_{S_{2}} (b^{2} - 3 x) \, dx dy = \int_{S_{2}} (x x^{2})_{0}^{a} dy = \int_{S_{2}} \frac{a^{2} x}{4}$$

$$= \int_{S_{2}} (b^{2} - 3 x) \, dx dy = \int_{S_{2}} (x x^{2})_{0}^{a} dy$$

$$= \int_{S_{2}} (b^{2} - 3 x) \, dx dy = \int_{S_{2}} (c^{2} x - 3 x^{2} y) \, dy$$

$$= \int_{S_{2}} (c^{2} x - 3 x^{2} y) \, dx dy = \int_{S_{2}} (c^{2} x - 3 x^{2} y)_{0}^{a} dy$$

$$= \int_{S_{2}} (c^{2} x - 3 x^{2} y) \, dx dy = \int_{S_{2}} (x x^{2} y) \, dy$$

$$= \int_{S_{2}} (c^{2} x - 3 x^{2} y) \, dx dy = \int_{S_{2}} (x x^{2} y) \, dy$$

$$= \int_{S_{2}} (c^{2} x - 3 x^{2} y) \, dx dy = \int_{S_{2}} (x x^{2} y) \, dy$$

$$= \int_{S_{2}} (c^{2} x - 3 x^{2} y) \, dx dy = \int_{S_{2}} (x x^{2} y) \, dy$$

$$= \int_{S_{2}} (c^{2} x - 3 x^{2} y) \, dx dy = \int_{S_{2}} (x x^{2} y) \, dy$$

$$= \int_{S_{2}} (c^{2} x - 3 x^{2} y) \, dx dy = \int_{S_{2}} (x x^{2} y) \, dy$$

$$= \int_{S_{2}} (c^{2} x - 3 x^{2} y) \, dx dy = \int_{S_{2}} (x x^{2} y) \, dy$$

$$= \int_{S_{2}} (c^{2} x - 3 x^{2} y) \, dx dy = \int_{S_{2}} (x x^{2} y) \, dy$$

$$= \int_{S_{2}} (c^{2} x - 3 x^{2} y) \, dx dy = \int_{S_{2}} (x x^{2} y) \, dy$$

$$= \int_{S_{2}} (c^{2} x - 3 x^{2} y) \, dx dy = \int_{S_{2}} (x x^{2} y) \, dy$$

$$= \int_{S_{2}} (c^{2} x - 3 x^{2} y) \, dx dy = \int_{S_{2}} (x x^{2} y) \, dy$$

$$= \int_{S_{2}} (c^{2} x - 3 x^{2} y) \, dx dy = \int_{S_{2}} (x x^{2} y) \, dy$$

$$= \int_{S_{2}} (c^{2} x - 3 x^{2} y) \, dx dy = \int_{S_{2}} (x x^{2} y) \, dy$$

$$= \int_{S_{2}} (c^{2} x - 3 x^{2} y) \, dx dy$$

$$= \int_{S_{2}} (c^{2} x - 3 x^{2} y) \, dx dy$$

$$= \int_{S_{2}} (c^{2} x - 3 x^{2} y) \, dx$$

$$= \int_{S_{2}} (c^{2} x - 3 x^{2} y) \, dx$$

$$= \int_{S_{2}} (c^{2} x - 3 x^{2} y) \, dx$$

$$= \int_{S_{2}} (c^{2} x - 3 x^{2} y) \, dx$$

$$= \int_{S_{2}} (c^{2} x - 3 x^{2} y) \, dx$$

:.
$$\iint_{S} \vec{F} \cdot \hat{n} ds = \alpha^{2}bc - \frac{b^{2}c^{2}}{4} + \frac{b^{2}c^{2}}{4} + \frac{a^{2}b^{2}}{4} + \frac{a^{2}b^{2}}$$

LHS
$$\Rightarrow$$
 $\iint_{S_{1}} \vec{F} \cdot \hat{n} ds = \iint_{S_{1}} + \iint_{S_$

Manufly disvagance theorem for
$$\vec{F} = x^{2}\vec{i} + z\vec{j} + yz\vec{k}$$
 over the cube formed by $x = \pm 1$, $y = \pm 1$, $z = \pm 1$

By grows disagree theorem,

$$\iint_{\vec{F}} \vec{i} \cdot \vec{n} \cdot dk = \iiint_{\vec{K}} \vec{i} \cdot \vec{k} \cdot dy \cdot dx = \iiint_{\vec{K}} \vec{i} \cdot \vec{k} \cdot dy \cdot dx = \iiint_{\vec{K}} \vec{i} \cdot \vec{k} \cdot dy \cdot dx = \iiint_{\vec{K}} \vec{i} \cdot \vec{k} \cdot dy \cdot dx = \iiint_{\vec{K}} \vec{i} \cdot \vec{k} \cdot dy \cdot dx = \iiint_{\vec{K}} \vec{i} \cdot \vec{k} \cdot dy \cdot dx = \lim_{\vec{K}} \vec{i} \cdot \vec{k} \cdot dy \cdot dx = \lim_{\vec{K}} \vec{i} \cdot \vec{k} \cdot dy \cdot dx = \lim_{\vec{K}} \vec{i} \cdot \vec{k} \cdot dy \cdot dx = \lim_{\vec{K}} \vec{i} \cdot \vec{k} \cdot dy \cdot dx = \lim_{\vec{K}} \vec{i} \cdot \vec{k} \cdot dy \cdot dx = \lim_{\vec{K}} \vec{i} \cdot \vec{k} \cdot dy \cdot dx = \lim_{\vec{K}} \vec{i} \cdot \vec{k} \cdot dy \cdot dx = \lim_{\vec{K}} \vec{i} \cdot \vec{k} \cdot dx = \lim_{\vec{K$$

$$\iint_{S_{1}} \vec{F} \cdot \hat{h} ds = \iint_{S_{2}} dy dy = \iint_{S_{1}} dy = \iint_{S_{2}} (+1) dy = \iint_{S_{2}} dy = \iint_{S_{2}} (-1) dy = \iint_{S_{2}$$

RHS
$$\Rightarrow$$
 \overrightarrow{R} = $\frac{\partial}{\partial z}$ \overrightarrow{R} + $\frac{\partial}{\partial z}$ + $\frac{\partial}{\partial z}$

= $Az - 2y + y$

= $Az - y$
 $\iiint \nabla \cdot \overrightarrow{F} dv = \iiint (z - y) dxdydy$

= $\iint (Azy - y^2)^2 dydy = \iint (Az - y) dydy$

= $\iint (Azy - y^2)^2 dydy = \iint (Az - y^2) dy$

= $\iint (Azy - y^2)^2 dydy = \iint (Az - y^2) dy$

= $\iint (Azy - y^2)^2 dydy = \iint (Az - y^2) dy$

= $\iint (Azy - y^2)^2 dydy = \iint (Az - y^2) dy$

= $\iint (Azy - y^2)^2 dydy = \iint (Az - y^2) dydy$

= $\iint (Azy - y^2)^2 dydy = \iint (Az - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Az - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppose $\iint (Azy - y^2)^2 dydy = \iint (Azy - y^2)^2 dydy$

Suppos

$$\iint_{S_{1}} \vec{F} \cdot \hat{n} ds = \iint_{S_{2}} 4z \, dy \, dz = \iint_{S_{1}} 4z \, dy \, dz = \iint_{S_{2}} 4z \, dy = \iint_{S_{2}} (x) \, dy = -\iint_{S_{2}} 4z \, dy = \iint_{S_{2}} (x) \, dy = -\iint_{S_{2}} 4z \, dy = \iint_{S_{2}} (x) \, dy = -\iint_{S_{2}} (x)$$